



232 E. Hwy 96 PO Drawer "L"

Leoti, KS 67861

Phone: (620) 375-2621 Fax: (620) 375-4562

www.americanimplement.com

**REMIT TO:** 

American Implement, Inc. PO Box 855 - 2302 E Mary St Garden City, KS 67846-0855

(620) 277-7548

LE720445

## SERVICE INVOICE

Invoice To Account No: 24339			SER	RVICE INVOICE
MARVIN ELDER FARMS INC			Invoice Number:	2563037
MARVIN ELDER			Invoice Date	09/26/2024
601 S. 7TH STREET			Location:	14
LEOTI KS 67861			Work Order Number:	409896
			Payment Type:	Finance
Bus Phone: (620)376-8300				
Prv Phone: (620)376-2615			Page:	1 of 5
Make/Model:	Meter	Serial Number:	EQ ld:	Fleet No:

H00893X720445

JOHN DEERE 893

EXPERT-1000000071317 Retail

Service Reminders:

COMPLAINT:

01 AIQC Basic walk around to identify any issues, check lights, safety equipment, all fluid levels, and basic operations

CAUSE:

CORRECTION:

Were all repairs requested by the customer reviewed, addressed and confirmed to be complete? Serial Number, Check Four Corner Assessment of Equipment Machine Safety System, Check Shielding, Check

Fluid Leaks, Check All Common Fluid Levels, Check

Operator Station, Clean

Hours, Verify

Has the customer been contacted that the equipment is ready

OL&M: \$0.00 Misc: \$0.00 Sub-Total: \$0.00 Parts: \$0.00 Labor: \$0.00

EXPERT-1000000225116 Retail

COMPLAINT:

02 Inspection Of Platform Or Header

CAUSE:

CORRECTION:

**Check All Snouts Check All Augers** Check All Row Units **Check All Chains And Sprockets** 

Check All Grease Points And Levels

<u>PartNumber</u>	<u>Description</u>	Quantity	Net Price	Extended Price	Taxed Ind
14M7275	12mm - 1.75 TH.PI.	16.00	1.48	\$23.68	N
19M8413	12MM X 150MM- 1.75 TH.PI.BOLT	8.00	11.61	\$92.88	N
AN102010	1-1/8" ID HEX BEARING	3.00	31.40	\$94.20	N







Invoice To Account No: 24339

232 E. Hwy 96 PO Drawer "L"

Leoti, KS 67861

Phone: (620) 375-2621 (620) 375-4562 Fax:

www.americanimplement.com

**REMIT TO:** 

American Implement, Inc. PO Box 855 - 2302 E Mary St Garden City, KS 67846-0855

(620) 277-7548

# SERVICE INVOICE

MARVIN ELDER FARMS INC	Invoice Number:	2563037
MARVIN ELDER	Invoice Date	09/26/2024
601 S. 7TH STREET LEOTI KS 67861	Location:	14
LEOTI KS 67861	Work Order Number:	409896
	Payment Type:	Finance
Bus Phone: (620)376-8300		
Pry Phone: (620)376-2615	Page:	2 of 5

Make/Model:		Meter	Serial Number:	EQ ld:	F	leet No:	
JOHN DEERE 893			H00893X720445	LE720445			
Service Reminders:							
AN102562	CORN HEAD GREAS	E ( Tube)		4.00	7.13	\$28.52	N
C17964	RING			6.00	2.87	\$17.22	N
H135175	RETAINER			4.00	6.09	\$24.36	N
1135176	1 1/8"HEX SEAL			4.00	5.16	\$20.64	Ν
1149353	GASKET			2.00	18.89	\$37.78	Ν
1207017	O-RING			2.00	36.76	\$73.52	N
H83875	BUSHING			2.00	7.62	\$15.24	N
N102006	Shim			1.00	2.81	\$2.81	N
N102007	SHIM			1.00	3.88	\$3.88	N
TY6296	GL-5 Gear Lube 80W-	90 Qt.		2.00	12.42	\$24.84	N
abor: \$787.50	Parts: \$459.57	OL&M: \$0.00	Misc:	\$0.00	Sub-Total:	\$1,247.07	

#### /GEN-GEARBOX Retail

COMPLAINT:

03 General gearbox diagnostics

CAUSE:

### CORRECTION:

- Disassembled #5 & #6 Row Unit Gearcase For Closer Inspection

- #5 & #6 Row Unit Gearcase Are Needing Replaced With Findings That Housings Are Egg Shaped and Cannot Be Repaired

Sub-Total: \$175.00 \$0.00 OL&M: \$0.00 Misc: Parts: \$0.00 Labor: \$175.00

### /GENDECKPLATES Retail

COMPLAINT:

04 CORNHEAD - REPLACING DECK PLATES

- Adjustable Deck Plates

CAUSE:

### CORRECTION:

- Disassembled All Adjustable Deck Plates and Cleaned and Re- Assembled
- Operated Adjusting Deck Plates and Found Deck Plates Work As Designed





232 E. Hwy 96 PO Drawer "L"

Leoti, KS 67861

Phone: (620) 375-2621 (620) 375-4562

www.americanimplement.com

REMIT TO:

American Implement, Inc. PO Box 855 - 2302 E Mary St Garden City, KS 67846-0855 (620) 277-7548

Invoice To Account No: 24339

SERVICE INVOICE

MARVIN ELDER FARMS INC MARVIN ELDER 601 S. 7TH STREET **LEOTI KS 67861** 

Invoice Number: Invoice Date Location:

2563037 09/26/2024

Bus Phone: (620)376-8300 Prv Phone: (620)376-2615

Work Order Number: Payment Type:

409896 Finance

EQ ld:

Page:

3 of 5

Make Model

Serial Number: Meter

LE720445

Fleet No:

JOHN DEERE 893

H00893X720445

Service Reminders

Labor: \$1,400.00

Parts: \$0.00

OL&M: \$0.00

Misc:

\$0.00

Sub-Total:

\$1,400.00

/Gen-Service Machine Retail

COMPLAINT:

05 Service Machine

- Service Grease Gearbox's

CAUSE:

CORRECTION:

## SERVICE MACHINE

- Checked All Gearcase For Correct Level Of Corn Head Grease
- Greased Al Row Unit Gearcase To Full Level
- Operated and Lubricated All Gathering Chains
- Lubricated Auger Chain
- Greased All Gathering Chain Sprockets
- Filled LH & RH Oil Pans 1 Qt Each 80-90 Gear Oil

PartNumber	Description			Quantity	Net Price	Extended Price	Taxed Ind
TY26350	Chain & Cable Spray	Lube 15 oz		1.00	10.27	\$10.27	N
Labor: \$350.00	Parts: \$10.27	OL&M: \$0.00	Misc:	\$0.00	Sub-Total:	\$360.27	

#### /GENERALCLUTCHREPAIR Retail

COMPLAINT:

06 General clutch repairs.

- #3 & #4 Row Unit Clutch Rebuild

CAUSE:

CORRECTION:

- Rebuild #3 & #4 Row Unit Clutch

OL&M: \$0.00 Labor: \$700.00 Parts: \$0.00

Misc: \$0.00 Sub-Total:

\$700.00

/Gen-Bolt repair Retail





Invoice To Account No: 24339

232 E. Hwy 96 PO Drawer "L"

Leoti, KS 67861

Phone: (620) 375-2621 Fax: (620) 375-4562

www.americanimplement.com

REMIT TO

American Implement, Inc. PO Box 855 - 2302 E Mary St Garden City, KS 67846-0855

(620) 277-7548

## SERVICE INVOICE

MARVIN ELDER FARMS INC			Invoice Number:	2563037
MARVIN ELDER			Invoice Date	09/26/2024
601 S. 7TH STREET			Location:	14
LEOTI KS 67861			Work Order Number:	409896
			Payment Type:	Finance
Bus Phone: (620)376-8300				
Prv Phone: (620)376-2615			Page:	4 of 5
Make/Model:	Meter	Serial Number:	EQ ld:	Fleet No:

JOHN DEERE 893 H00893X720445 LE720445

Service Reminders:

COMPLAINT:

07 General bolt repairs

- #5 & #6 Row Unit Gearbox

CAUSE:

#### CORRECTION:

- Removed Row Unit For Closer Inspection
- Removed Trash Knives
- Removed Stalk Rollers
- R/R #5 & #6 Row Unit Gearcase
- Installed Stalk Rollers
- Installed Trash Knives and Adjusted To Spec
- Operated Header and Checked Over All Header

Labor: \$3,150.00	Parts: \$5,429.79 OL&M: \$0.00	Misc: \$0.00	Sub-Total: \$8,579.79
PG200882	Gear Case Reman - Right	2.00	2,673.57 \$5,347.14 N
N103236	SCREW	8.00	3.10 \$24.80 N
H154379	GREEN SEALANT	1.00	27.13 \$27.13 N
H149591	PIN *	8.00	1.94 \$15.52 N
34H334	SPRING PIN	8.00	1.90 \$15.20 N
PartNumber	<u>Description</u>	Quantity	Net Price Extended Price Taxed Ind

## /RowCropHeaderRepair Retail

#### COMPLAINT:

08 General row crop header repairs

- RH Row Unit Shaft, BRG, Seals and LH Seals
- LH & RH Backshaft BRG's, Seals

## CAUSE:

### CORRECTION:

- R/R RH Row Unit Shaft, BRG, Seals and LH Seals
- R/R LH & RH Backshaft BRG's, Seals







232 E. Hwy 96 PO Drawer "L" Leoti, KS 67861

Phone: (620) 375-2621 Fax: (620) 375-4562

www.americanimplement.com

REMIT TO

American Implement, Inc. PO Box 855 - 2302 E Mary St Garden City, KS 67846-0855 (620) 277-7548

MARVIN ELDER FARMS INC MARVIN ELDER			SEIVAI	CE INVOICE
		Invoice Nur	nber:	2563037
		Invoice		09/26/2024
601 S. 7TH STREET LEOTI KS 67861			ation:	14
		Work Order Nu Payment		409896 Finance
Bus Phone: (620)376-8300		Payment	тура.	rinance
Pry Phone (620)376-2615			Page:	5 of 5
Make/Model	Meter Serial Number:	EQ Id:	Fle	eet No:
JOHN DEERE 893	H00893X720445	LE720445		
Service Reminders:				
Labor: \$1,225.00 Parts: \$0.00	OL&M: \$0.00 Misc:	\$0.00	Sub-Total:	\$1,225.00
	Finance Information		Labor:	\$7,787.50
Customer PO No:	Type: Farm Plan Auth N	lo: 218986	Parts:	\$5,899.63
Tax Exempt No: KS 02/23	Merchant No: 37000338		OL&M:	\$0.00
Advisor: CLELA EINSPAHR	Card No: xxxxxxxxxxxx4073		Misc:	\$0.00
	Bill Code: 705 - JD COMBINE F	and the second s	Sales Tax:	\$0.00
	Credit Plan: 12066 - NP/NI til Nov 15 9/30/24	2024 6/1/24-	Total:	\$13,687.13